Talent Search in Mathematics Olympiad-2020
Time: 01:30 hour Date of Examination:-12.01.2021

Total Questions 20 (Multiple Choice Question).
Answer all the guestions. Each question carries 5 marks.

Class 9

A and B can finish a work working on alternate day in 19 (%) days when A works first and in
19(;) days when B works the first. In how many days A takes to finish the work alone?
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(a) 18 days

(b) 24 days

(c) 30days

(d) 36 days

A 10 Rupee coin has 12 sides of equal length. What is angle when two coins are placed next
to each other on a table?
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(a) 12

(b) [./30

(c) 36

(d) 60

(e) 72

Shyam bought a cake of 100 kg on his birthday to distribute among his 100 friends
numbered 1°5,2" 3 ... 100" respectively. He gave 1% to 1%, 2% to 2", 3 % to 3", and
so on. What is the number of friends who received the cake in highest quantity.
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(a) 8

(b) 12

(c) 10

(d) 16

What is the unit digit of the following expression?
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(a) 3

(b) 1

(c) 7

(d) 9

a, b are the roots of the equation Px*4x +1 = 0 and c, d are roots of the equation Qx’. Then,
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(a) -5,9

(b) 2,5

(c) 3,8

(d) None of these

In the figure given below P9 = 25 Find the ratio of == where RUTQ is a square.
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If xy + yz + 2x = [x%(a+b+c)?—a?(x2+y?+22)]

2a?
[x2(at+b+c)?—a?(x2+y?+z
2a?

, then which of the following is true
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afexy +yz + zx =

V4

(a) 5=
(b) %=
(c) 2

a

(d) None of these
A circular wheel makes half a rotation such that its topmost point A of the wheel touches
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the ground at X. If the radius of wheel is 10 cm, find %?
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a) Vam2+1
b) GVZ+4
c) V2m?+1
d) Vienz+1

10. Find the number of solutions of the equation |x|2 —5|x|+6=0.

11.

(a)

40! 7 3

(a)6

X" —5|x|+ 6 = 0w RETTA R

(A)0 (B)2 (C)3 (D) 4

For any real x, [x] + [x + %] + [x + %] is equal to, where [x] greatest integer
function of x.
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A box contains Rs. 1 coin, 50 paise coin, 25 paise coin and 10 paise coin in the
proportion1 : 3 : 5: 7. If the total amount is 89, find the number of 50 paise coins.
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30 (b) 35 (c) 15 (d) 5
In a triangle, if the sum of two sides is a and their product is b such that
(a + c¢)(a-c) = b, where cis the third side of the triangle, Then the triangle is
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(a) An obtuse angled( & 21fer® @)
(b) An acute angled( T& =gIoT)
(c) A right angledtriangle( t& o)

(d) An equilateral triangle.( v& wHag 3ry<)

14. What is the highest power of 3 contained in 40!.
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(b) 8 (c)12 (d)18



15. for what value of x the equationvx +v2x — 1 + ’x— /Zx— = /2 satisfies
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16. square root of 36™°(36)24(16)? is
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(a) 36m62a22b(b) 36m6a2b (C)36m26a2b (d) 36m6a22b

17.If x>~ x + 1 = 0, Then the value of x% + x% + 1is
I x2-x+1=0 A x2+x°+1 dra9 2
(@2 ()3 ()4 (d)o
18 If p = 2 — a, the value of a® + 6ap + p* — 8 is equal to
gfep = 2-a? @ a® + 6ap + p* — 8% A 7
(a) 3 )0 (5 (d)7

19. If AB and CD are respectively, the smallest and largest sides of a quadrilateral ABCD, then which
is true?
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a) Angle A=Angle C

b) Angle A< Angle C

c) Angle A> Angle C

d) Angle A+ Angle C=90°

20.Themeanofx,x + 3,x + 5,x + 7,x + 10 is 9 then the mean of the last 3 observations is

x,x+3,x+5x+7,x+ 10 & 79 9 § I AfAH 3 AAqAIBAl BT AdAd &

(a) 34/3
(b) 31/3
(c) 31/4
(d) 34/5



